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Aufgabe 10
a) Grundseite a:
1
ADreieck = 7 a-hg
A:%-3,5-4:7[cm2]
Grundseite b:
1
ADreieck = 2 b hy
1
A= > 52,8 =7 [cm?]
Grundseite c:
1
ADreieck = E ¢ he
— % -4.35 =7 [cm?]
b) Grundseite a:
1
ADreieck = E “a-hg
1
A— 5 -3,4-3,1 =527 ~ 5,25 [cm?]
Grundseite b:
1
ADreieck = E b hy
A= % 5818 = 522 ~ 525 [cn?]

Grundseite c:
1

ADreleck 2 -C- hc
1

=5 -3,5-3 = 5,25 [cm?
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c¢) Grundseite a:

1
ADreieck = 5 “a-hg
A— % -5,3-2,3 = 6,095 ~ 6 [cm?]
Grundseite b:
1
ADreieck = E b hb
1
A==.3-4=6[cm?]
2
Grundseite c:
ADreieck =5-che

-4,1-3=6,15~ 6 [cm?]

N = N~
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Aufgabe 12

a)

ADrez'eck =

N = N =

b) Es gibt unendlich viele solche Dreiecke:

c) Der Punkt C liegt wie immer gegeniiber der Seite c.



